

TIP NO

9.730 MI

FED AID NO STATE FUNDED

MILL, RESURFACE, SHOULDER RECONSTR, FULL DEPTH RECLAMATION

2 SECTIONS OF US 29 AND 10 SECTIONS OF SECONDARY ROADS

				BLYTHE CONSTRUCTION INC	BLYTHE BROTHERS ASPHALT CO	B & N GRADING INC	
				CHARLOTTE, NC	CHARLOTTE, NC	CHARLOTTE, NC	
ROADWAY ITEMS							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	120000.00	90000.00	150000.00
0002	0106000000-E	230	BORROW EXCAVATION	666 CY	33.50 22311.00	41.00 27306.00	26.00 17316.00
0003	0241000000-E	SP	GENERIC GRADING ITEM (SY) SOIL CEMENT BASE (FULL DEPTH RECLAMATION)	15,650 SY	3.70 57905.00	3.75 58687.50	4.00 62600.00
0004	0366000000-E	310	15" RC PIPE CULV III	64 LF	78.00 4992.00	137.50 8800.00	35.00 2240.00
0005	1121000000-E	520	AGGREGATE BASE COURSE	1,950 TON	32.00 62400.00	34.00 66300.00	30.00 58500.00
0006	1187000000-E	542	PC FOR SOIL CEMENT BASE	520 TON	205.00 106600.00	175.00 91000.00	200.00 104000.00
0007	1220000000-E	545	INCIDENTAL STONE BASE	165 TON	40.00 6600.00	50.00 8250.00	1.00 165.00
0008	1243000000-E	SP	SHOULDER CONSTRUCTION	2.4 SMI	5000.00 12000.00	7500.00 18000.00	5000.00 12000.00
0009	1245000000-E	SP	SHOULDER RECONSTRUCTION	9.5 SMI	3300.00 31350.00	5000.00 47500.00	3800.00 36100.00
0010	1297000000-E	607	MILL ASP PVMT ***** DTH (1.25" DEPTH)	3,100 SY	2.75 8525.00	3.20 9920.00	10.00 31000.00
0011	1297000000-E	607	MILL ASP PVMT ***** DTH (1.5" DEPTH)	1,500 SY	4.70 7050.00	3.75 5625.00	10.00 15000.00
0013	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 1.25")	7,400 SY	1.80 13320.00	2.40 17760.00	10.00 74000.00
0014	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 2")	2,000 SY	6.50 13000.00	3.70 7400.00	10.00 20000.00
0015	1330000000-E	607	INCIDENTAL MILLING	3,940 SY	13.70 53978.00	5.25 20685.00	10.00 39400.00
0016	1519000000-E	610	ASP CONC SURF CRS S9.5B	2,475 TON	54.00 133650.00	58.50 144787.50	50.00 123750.00
0017	1523000000-E	610	ASP CONC SURF CRS S9.5C	12,325 TON	50.00 616250.00	56.50 696362.50	50.00 616250.00
0018	1575000000-E	620	ASP FOR PLANT MIX	889 TON	464.00 412496.00	475.00 422275.00	450.00 400050.00
0019	1704000000-E	SP	PATCHING EXIST PAVEMENT	2,255 TON	125.00 281875.00	100.00 225500.00	110.00 248050.00
0020	1775500000-E	660	AST, MAT COAT, #*** STONE (#67 STONE)	56,250 SY	0.95 53437.50	1.45 81562.50	1.00 56250.00
0021	1803500000-E	660	AST, DOUBLE SEAL	15,650 SY	2.00 31300.00	1.50 23475.00	1.35 21127.50
0022	1838000000-E	660	EMULSION FOR AST	28,295 GAL	1.80 50931.00	2.15 60834.25	2.00 56590.00
0023	2612000000-E	848	6" CONCRETE DRIVEWAY	254 SY	155.00 39370.00	125.00 31750.00	100.00 25400.00
0024	2830000000-N	858	ADJ MANHOLES	18 EA	1200.00 21600.00	985.00 17730.00	1000.00 18000.00
0025	2845000000-N	858	ADJ METER OR VALVE BOXES	5 EA	1100.00 5500.00	770.00 3850.00	900.00 4500.00
0026	4413000000-E	SP	WORK ZONE ADV/GEN WARN SIGN	662 SF	6.04 3998.48	6.50 4303.00	8.00 5296.00
0027	4457000000-N	SP	TEMP TRAFFIC CONTROL (SP)	Lump Sum	65000.00	55000.00	125000.00
0028	4510000000-N	1190	LAW ENFORCEMENT	240 HR	50.00 12000.00	40.00 9600.00	35.00 8400.00
0029	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	250 LF	4.00 1000.00	4.00 1000.00	2.00 500.00
0030	4710000000-E	1205	24"WIDE THERMO 120 MILS	442 LF	12.00 5304.00	12.00 5304.00	2.50 1105.00
0031	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	60 EA	140.00 8400.00	165.00 9900.00	200.00 12000.00
0032	4770000000-E	1205	4" COLD APPL PLSTIC LINES TYPE ** (TYPE II)	650 LF	4.00 2600.00	10.50 6825.00	3.00 1950.00
0033	4810000000-E	1205	PAINT PVMT MARKINGS 4"	31,400 LF	0.35 10990.00	0.28 8792.00	0.50 15700.00
0034	4835000000-E	1205	PAINT PVT MKG LINES 24"	42 LF	8.00 336.00	6.00 252.00	3.50 147.00

MAY 03, 2018 09:21 AM

CABARRUS

2:00 PM 2 / 4 001

2019CPT.10.03.10131.1, 2019CPT.10.03.10131.2, 2019CPT.10.03.20131.1, 2019CPT.10.03.20131.2, 2019CPT.10.03.20131.3, 2019CPT.10.03.20131.4, 2019CPT.10.03.20131.5,
2019CPT.10.03.20132.1

MAY 02 2018 DJ00285

TIP NO

9.730 MI

FED AID NO STATE FUNDED

MILL, RESURFACE, SHOULDER RECONSTR, FULL DEPTH RECLAMATION

2 SECTIONS OF US 29 AND 10 SECTIONS OF SECONDARY ROADS

				BLYTHE CONSTRUCTION INC		BLYTHE BROTHERS ASPHALT CO		B & N GRADING INC			
				CHARLOTTE, NC		CHARLOTTE, NC		CHARLOTTE, NC			
0035	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)(HIGHLY REFLECTIVE MEDIA)	63,025	LF	0.80	50420.00	0.80	50420.00	2.50	157562.50
0036	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)(HIGHLY REFLECTIVE MEDIA)	54,500	LF	0.75	40875.00	0.75	40875.00	1.00	54500.00
0037	4905000000-N	1253	SNOWPLB PVMT MRKER	570	EA	25.00	14250.00	36.00	20520.00	30.00	17100.00
0038	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum			22000.00		6750.00		6000.00
0039	6000000000-E	1605	TEMPORARY SILT FENCE	180	LF	3.00	540.00	5.50	990.00	2.50	450.00
0040	6071010000-E	SP	WATTLE	385	LF	10.00	3850.00	5.50	2117.50	7.00	2695.00
0041	6071020000-E	SP	POLYACRYLAMIDE (PAM)	2	LB	200.00	400.00	200.00	400.00	50.00	100.00
0042	6084000000-E	1660	SEEDING AND MULCHING	3	ACR	2800.00	8400.00	1900.00	5700.00	4000.00	12000.00
43	1297000000-E	607	MILL ASP PVMT ***** DTH (2" DEPTH)	15,050	SY	1.85	27842.50	2.15	32357.50	2.80	42140.00
CONTRACT TOTAL						TOTAL	2444646.48	TOTAL	2446466.25	TOTAL	2654934.00
ROADWAY ITEMS						SUB-TOTAL	2444646.48	SUB-TOTAL	2446466.25	SUB-TOTAL	2654934.00

TIP NO

9.730 MI

FED AID NO STATE FUNDED

MILL, RESURFACE, SHOULDER RECONSTR, FULL DEPTH RECLAMATION

2 SECTIONS OF US 29 AND 10 SECTIONS OF SECONDARY ROADS

GRANITE CONTRACTING LLC

LYNCHES RIVER CONTRACTING
INC

CORNELIUS, NC

PAGELAND, SC

ROADWAY ITEMS

Item ID	Description	Quantity	Unit	Price	Amount	Amount	Amount
0001	0000100000-N 800 MOBILIZATION			Lump Sum	145000.00		120000.00
0002	0106000000-E 230 BORROW EXCAVATION	666	CY	49.50	32967.00	39.75	26473.50
0003	0241000000-E SP GENERIC GRADING ITEM (SY) SOIL CEMENT BASE (FULL DEPTH RECLAMATION)	15,650	SY	2.90	45385.00	4.50	70425.00
0004	0366000000-E 310 15" RC PIPE CULV III	64	LF	118.00	7552.00	155.00	9920.00
0005	1121000000-E 520 AGGREGATE BASE COURSE	1,950	TON	45.75	89212.50	47.00	91650.00
0006	1187000000-E 542 PC FOR SOIL CEMENT BASE	520	TON	190.00	98800.00	200.00	104000.00
0007	1220000000-E 545 INCIDENTAL STONE BASE	165	TON	60.00	9900.00	77.00	12705.00
0008	1243000000-E SP SHOULDER CONSTRUCTION	2.4	SMI	26000.00	62400.00	27750.00	66600.00
0009	1245000000-E SP SHOULDER RECONSTRUCTION	9.5	SMI	3970.00	37715.00	4000.00	38000.00
0010	1297000000-E 607 MILL ASP PVMT ***** DTH (1.25" DEPTH)	3,100	SY	2.50	7750.00	5.00	15500.00
0011	1297000000-E 607 MILL ASP PVMT ***** DTH (1.5" DEPTH)	1,500	SY	5.25	7875.00	5.00	7500.00
0013	1308000000-E 607 MILLN ASPHALT PVMT ***** - ***** (0" TO 1.25")	7,400	SY	4.00	29600.00	5.50	40700.00
0014	1308000000-E 607 MILLN ASPHALT PVMT ***** - ***** (0" TO 2")	2,000	SY	7.00	14000.00	7.00	14000.00
0015	1330000000-E 607 INCIDENTAL MILLING	3,940	SY	12.25	48265.00	10.00	39400.00
0016	1519000000-E 610 ASP CONC SURF CRS S9.5B	2,475	TON	60.00	148500.00	68.00	168300.00
0017	1523000000-E 610 ASP CONC SURF CRS S9.5C	12,325	TON	57.50	708687.50	64.50	794962.50
0018	1575000000-E 620 ASP FOR PLANT MIX	889	TON	475.00	422275.00	505.00	448945.00
0019	1704000000-E SP PATCHING EXIST PAVEMENT	2,255	TON	123.00	277365.00	150.00	338250.00
0020	1775500000-E 660 AST, MAT COAT, #*** STONE (#67 STONE)	56,250	SY	2.80	157500.00	1.50	84375.00
0021	1803500000-E 660 AST, DOUBLE SEAL	15,650	SY	2.50	39125.00	1.75	27387.50
0022	1838000000-E 660 EMULSION FOR AST	28,295	GAL	3.00	84885.00	2.50	70737.50
0023	2612000000-E 848 6" CONCRETE DRIVEWAY	254	SY	72.00	18288.00	155.00	39370.00
0024	2830000000-N 858 ADJ MANHOLES	18	EA	1040.00	18720.00	1200.00	21600.00
0025	2845000000-N 858 ADJ METER OR VALVE BOXES	5	EA	767.50	3837.50	1100.00	5500.00
0026	4413000000-E SP WORK ZONE ADV/GEN WARN SIGN	662	SF	6.50	4303.00	12.05	7977.10
0027	4457000000-N SP TEMP TRAFFIC CONTROL (SP)			Lump Sum	123000.00		52500.00
0028	4510000000-N 1190 LAW ENFORCEMENT	240	HR	46.00	11040.00	60.00	14400.00
0029	4695000000-E 1205 THERMO PVT MKG LINES 8"90 MILS	250	LF	4.00	1000.00	4.00	1000.00
0030	4710000000-E 1205 24"WIDE THERMO 120 MILS	442	LF	12.00	5304.00	12.00	5304.00
0031	4725000000-E 1205 THERMO PVT SYMBOL 90MILS	60	EA	165.00	9900.00	165.00	9900.00
0032	4770000000-E 1205 4" COLD APPL PLSTIC LINES TYPE ** (TYPE II)	650	LF	10.50	6825.00	10.50	6825.00
0033	4810000000-E 1205 PAINT PVMT MARKINGS 4"	31,400	LF	0.28	8792.00	0.28	8792.00
0034	4835000000-E 1205 PAINT PVT MKG LINES 24"	42	LF	6.00	252.00	6.00	252.00

TIP NO

9.730 MI

FED AID NO STATE FUNDED

MILL, RESURFACE, SHOULDER RECONSTR, FULL DEPTH RECLAMATION

2 SECTIONS OF US 29 AND 10 SECTIONS OF SECONDARY ROADS

		GRANITE CONTRACTING LLC		LYNCHEs RIVER CONTRACTING INC					
		CORNELIUS, NC		PAGELAND, SC					
0035	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)(HIGHLY REFLECTIVE MEDIA)	63,025	LF	0.80	50420.00	0.80	50420.00
0036	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)(HIGHLY REFLECTIVE MEDIA)	54,500	LF	0.74	40330.00	0.74	40330.00
0037	4905000000-N	1253	SNOWPLB PVMT MRKER	570	EA	36.00	20520.00	36.00	20520.00
0038	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum			13850.00		35000.00
0039	6000000000-E	1605	TEMPORARY SILT FENCE	180	LF	5.00	900.00	3.50	630.00
0040	6071010000-E	SP	WATTLE	385	LF	6.50	2502.50	9.00	3465.00
0041	6071020000-E	SP	POLYACRYLAMIDE (PAM)	2	LB	8.00	16.00	10.00	20.00
0042	6084000000-E	1660	SEEDING AND MULCHING	3	ACR	4250.00	12750.00	3000.00	9000.00
43	1297000000-E	607	MILL ASP PVMT ***** DTH (2" DEPTH)	15,050	SY	4.75	71487.50	3.50	52675.00
		CONTRACT TOTAL		TOTAL			2898796.50	TOTAL 2975311.10	
		ROADWAY ITEMS		SUB-TOTAL			2898796.50	SUB-TOTAL 2975311.10	
		BIDDERS IN ORDER				CONTRACT TOTAL			
		BLYTHE CONSTRUCTION INC		1			2444646.48		
		BLYTHE BROTHERS ASPHALT CO LLC		2			2446466.25		
		B & N GRADING INC		3			2654934.00		
		GRANITE CONTRACTING LLC		4			2898796.50		
		LYNCHEs RIVER CONTRACTING INC		5			2975311.10		